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FHA-B-C LG-®Wo< 2 T% 12,650 1 (Ftid) 13,500 4 (Biir)
KISV INRY TR 13,750 [ (Biir) 14,600 [ (Biir)
FHF-G +HH-1-J-K2792 14,850 [ (Biid) 15,700 [ (Biid)
SYINRY TR 15,950 [ (Biir) 16,800 [ (Biir)
7Y —%A42 (8H]) 30,800 [ (FiiA) 32,500 [ (BiiA)
ShERE 2 2 & 8,250 1 (Biir) 9,100 [ (Fiir)
RI.R2.R3.R4 R1/2 R3/4 75 % 9,350 [ (FiA) 10,200 1 (Btir)
$1.52.83.84 7 5 =% 10,450 [ (Fiid) 11,300 [ (BiA)
HIE S1/2 7 9 = 12,100 [ (Fiid) 12,950 1 (BiA)
T1.T23 7 5 % 12,650 [ (BiiA) 13,500 [ (L)
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ClZz o= 2,730 [ (Biir) 2,950 [ (Biir)
FHA-B-C LG-®-<K Y2772 2,930 [ (Biir) 3,150 [ (BiiA)
KLY VINRY TR 3,180 [ (Biir) 3,400 M (Biir)
¥HF-G +HH-I-J-K79=% 3,480 1 (FiA) 3,700 [ (FiA)
SYINRYT TR 3,780 [ (Biir) 4,000 [ (Biir)
ShHERE 2 7 2 2,330 [ (Biir) 2,550 [ (Biir)
R1.R2.R3.R4 R1/2 R3/4 75 % 2,660 [ (Biir) 2,850 [ (BiiA)
$1.52.53.84 7 5% 2,730 1 (Biir) 2,950 [ (BiiA)
HIES1/2 7 5 = 2,930 1 (Biir) 3,150 [ (BiiA)

T1.T23 7 7 &

3,030 [ (BiA)

3,250 M (FiiA)
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